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ACCOUNTANCY AND BUSINESS STATISTICS—I
(Auditing and Management Accounting)

Time : Three Hours Maximum Marks : 100

Answers of all the questions (objective as well
as descriptive) are to be given in the main
answer-book only. Answers of objective type
questions must be given in sequential order.
Similarly all the parts of one question of
descriptive part should be answered at one place
in the answer-book. One complete gquestion

should not be answered at different places in

the answer-book.
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(OBJECTIVE) Maximum Marks : 40

Answer of Question No. 1(i

. - 1(i) to (x) each s
not ;:coed 20 words. Each question canl-::-:lg
marks. Answer of Question No. 2(i) to (v) each

should not exceeq 5
0 .
carries 4 marks word_s. Each question
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In i Instituti
which institutions auditing ig compulsory ?

Give any two examples.

ﬁﬁ-ﬁﬁﬁmaﬁﬁaﬁ#mwg?ﬁ

T |ewwr Sfg
Give fwo main objects of audit,
Fhe ® T YHE S¥Y =asd)
) Give two examples of contingent liability.
Ay Tifam & sEew s
) Give two limitations of internal audit.

It emyor H1 qF dEnd waEd)

To. whom a company auditor address his

(v)
report ? .
T 7

(vi) Give any four techniques of management
accounting.
T A@iFE # OFE AR THEAS  GaEd |

(vii) What is common-size balance sheet ?
AR oz &8 @ ¥ 2
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(v)

Give any four names of activity ratios,
Frareiemn st = T AT TN waEy,
What is pay-back period ?

TA-a94 1 smfy &y & o

What are the objects of an audit programme ?

FHREN FEET B Ryw Fw 0
“Vouching is the backbone of auditing.” Explain,

BEELERE I i R SIL —

Give any four advantages of management
accounting,

T TEE D WE WK WY =R
What do you mean by Cash Flow Statement ?

ﬁa@mﬁamﬁmwm%?

A project requires an initial investment of ¥ 2,00,000
and involves a net cash flow of 2 50,000 each
year for 8 years. Cost of capital is 10%. Find
out the net present value if present value of

¥ 1.00 for 8 years at 10% discount rate is
T 5.335.
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PART-1I (DESCRIPTIVE)

Maximum Marks : 60
Attempt three questions in all, selecting one
question from each Section. Each question
carries 20 marks.
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Section-A (FUE-2a7)

What is an audit programme ? Give essentials of a good

audit programme.

SRV FEHRT T & ) TR o e wrhEn @

FEEF T Fargd |

Or (31eam)

Explain the difference among vouching, verification and
valuation. What are the duties of an auditor with respect
te valuation of stock ?

F geamd ® Ty § T AREF % F Fud
5

¢

Section-B (@US-9)
What is qualified report ? Draft an audit report
indicating any three qualifications.
wifea o w0 % 2 Fee A e @ I B
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The following figures relate to two companies : @ =T e,
3 wEAE ] et sifws fAafofea § e @ @fta sgem
(2 in lakhs) W EOI-FEm 6ma
Particulars A Lid. B Ltd. (v} S SI9E, T
Sales 1,500 1,000 () YIUF Wa 3O
Variable costs 600 300 Balance Sheet of ABC Ltd.
Contribution 900 T00 as on 31st March, 2015
Fixed cost 450 40 Particulars Current Previous
Earnings before interest and tax 450 300
Year Year
Interest 150 100
Profit. Before Tax 300 200 2014-15 ) 2013-14 ()
You are required to : Equity and Liabilities
(£} Calculate the operating, financial and combined i1) Shareholders Fund :
leverage for the two companies, and (a} Share capital " 1.00,000
ity Comment on the relative risk position of
them. ih) Reserve and Surplus 50,000
o i2y Non-curren! Liabilities :
© E\prrh' i ' i b5 | ’ Long-term Borrowing
TA FC &, AW R
G A= anfas Sifes = fofs w ool s (Debentures) 2,00,000
%‘ t3) Current Ligbiities :
Section-C (G@UZ-7)
. Trade Payables
5. From the following statement, calculate :
() Current ratio (Creditors ¥ 30.000
{if) Quick ratio + Bills payables
tiit) Debt-equity ratio ? 20,000, 50,000
(iv) Proprietory ratio, and Total 2.00.000

(v) Solvency ratio. 9138-1 6
31381 5 PTO.



AsFela ;
11} Non-cwrrent asscls ;
Fixed aseeots (Net) 2.70,000
12} Current Asscls ©
ta)  lnventeries ] 80,000
(6l Trade Heceivables 30.000

i) Cnsh and cash

equivalents 20,000
Total 4.00.6()
Or (3eran)

From the following comparative Balance Sheets, prepare

Cash Flow Statement -

Fre=faf i ferarcon
A m@mﬁmﬁf&mﬁﬁﬂﬂm

Comparative Balance Sheets
as on 31st March, 2014 and 2015

Liabilitles 2015 | 2014 Assets 2015 2014
i) ) Ty H
Share capitsl 50000 | 45000 | tana B.000 7.000
Sinking fund 16000 | 12000 | Buildings 60,000 | 60,000
Retoined Earmings 13950 ) 16,275 | Fumniture 10000 | 10,000
Provisien for Sinking Fund
Doubtful debts 1,360 1425 Investment 18,000 } 12,000
Aceumulated depreciation - Stock 25000 20800
Building 12,000 9,000 | Debtors 15,000 | 15000
Fumniture 3.200 2400 | Bills receivable G.200 3.500
Loan on Mortgage 40000 | 40000 } Cash at Bank 21300 } 23500
Bills payable 25,000 25,600
161500 |1,51,600: l 181,500 | 1,51 ,600
3138-1 7
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Additional Information :
(L) The net profit for the year amounted to T 6,675.

(i) A dividend amounting to ¥ 5,000 was paid during
the year.
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